Math 260 (022)
Exam I ‘
' Total Grade: 60
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(5) Simplify y'—y =e*y” to a linear equation.
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(6) Write the augmented coefficient matrix for the

system:
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(8) Let 4 and B be matrices of sizes 2x4 and 4x1,
respectively. Are the products 4B and B4 defined?

If so, find the size. @
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(9) Find the reduced echelon of the matrix

-\ 2
\ \ \
-2 6 9
-\ 2 H
\ \ \
O o o °©
Vg N 43
\ \
o 9o °
o~
4
0 8 s
\ \ \
o Q
— P

(10) If [x 2:‘:[}) 2], what is the relation
-1 y -1 z

between x and z?

‘hkﬂ}l *:: “v\* a- = 2

———————

=D X = 2 @

~~J

(11) Let A=[a,] and B=[b]. If 34+B=1,

where I is the 4x4 identity matrix, what is the
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